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O °|&&4: Bernanke and Gertler (1990, Kiyotaki and Moore (1997),
Greenwald and Stiglitz (1991), Caballero and Krishnamurty (2001),
Aghion, Banerjee and Piketty (1999) &

O AZ=%4: Brown and Larrain (2005), Raddatz (2006), Manganelli and
Popov (2012) &

O 7|& A+ (2: 2888 - BHEUE Ec 285 ~ BHUE
O °|&&A: Shleifer and Vishny (2010, Wagner (2010), Brunnermeier,
Eisenbach and Sannikov (2012), Quadrini (2011) &
O A ZFEA: Denizer, Iyigun and Owen (2002), Kose, Prasad and Terrones
(2003), Acemoglu, Johnson, Robinson and Thaicharoen (2003), Beck,
Lundberg and Majnoni (2006) &
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O Easterly, Islam and Stiglitz (2000), Dabla-Norris and Srivisal (2013),
Sahay et al. (2015)
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(1) (2) (3) (4)
AR 0.8351%** 0.8072%** 0.7669*** 0.8058%**
(0.0000) (0.0000) (0.0000) (0.0000)
MA 0.2210*% 0.3328*** 0.3162%** 0.2862%**
(0.0174) (0.0002) (0.0032) (0.0043)
ARCH 0.1690 0.0794 0.0861 0.14753
(0.2409) (0.4045) (0.5435) (0.3466)
GARCH 0.7065*** 0.8163%** 0.7474%*** 0.7596™**
(0.0000) (0.0000) (0.0099) (0.0032)
M2/GDp 1017477
(0.0005)
=28/ | HFs -0.6478%*
‘4 /GDP (0.0363)
=0 -0.6759***
SH&’8/GDP (0.0011)
=M= '1-3599%
[S) E‘HED/GDP (00899)
Observations 127 107 91 97
F-test 0.000 0.000 0.000 0.000

pval in parentheses
**¥ p<0.01, ** p<0.05, * p<o0.1
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(1) (2) (3) (4)
AR 0.8315%** 0.7994***
(0.0000) (0.0000)
MA 0.2426*** 0.3033***
(0.0087) (0.0024)
ARCH 0.1480 0.1252
(0.2131) (0.3717)
GARCH 0.7198%*** 0.7677%**
(0.0000) (0.0010)
-0.3345
M2/GDP (0.647)
287 AR BN
/GDP
£55%9/GDP
2r=a -0.7520
SHl==s/GDP (0.5973)
A2 GDP 0.2969 0.2207
S7t& (0.2774) (0.5309)
Observations 127 97
F-test 0.000 0.000

pval in parentheses

***¥ p<0.01, ** p<0.05, ¥ p<o0.1
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(1) (2)
0.2223 0.1595
74 M| A RFE
3AeSE (0.2781) (0.3960)
-1.7363** -2.2329%**
Mz2/GDP (0.0132) (0.0000)
=8/ &5 -0.5038 -0.7541
S’d/GDP (0.3762) (0.1224)
52| 127 127 107 107
(3) (4)
0.0840 -0.0219
74 M| A R
SAIEEE (0.6722) (0.9142)
S5 3/G | -1.2775%%*  -1.3540%*%
DP (0.0063) (0.0017)
SHEZ/G -3.1231%*  -3.0508***
pP (0.0158) (0.0055)
HEX| 91 91 97 97

pval in parentheses
**¥ p<0.01, ** p<0.05, * p<oO.1
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(1) (2)
= 0.2063 0.2312
74 2| A RF
sAlsTE (0.3175) (0.2037)
-4.8258 -5.7173
Mz2/GDP (0.2538) (0.1671)
M2/GDP 0.3946 0.4502
A (0.4582) (0.3949)
297|130 = A 13.0385*** 12.0014%**
587|835 38/GDP (0.0030) (0.0054)
=287 #7358 /GDP -1.1559%**  -1.0978%**
Z1|—';+§; (0.0019) (0.0030)
=2 127 127 107 107

pval in parentheses

**¥ p<0.01, ** p<0.05, * p<oO.1



(3) (4)
_ 0.1526 -0.0208
74 24| A1 R}
_ 6.3784 5-5942
=0 o A
&+&'3/GDP (0.1487) (0.1910)
295 /GDP -0.4949* ~0.4528
|25t (0.0822) (0.1037)
. -2.0394 -1.7392
Z[4£2/GDP
_ EH§ / (0.9250) (0.9350)
20122 /GDP -0.1280 -0.1555
A B3t (0.9600) (0.9509)
=3 91 o1 97 2

pval in parentheses

¥¥% p<0.01, ** p<0.05, * p<0.1
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(1) (2)
= -0.5456 0.2559
74 M| A RF
ilde= (0.1670) (0.5822)
= 0.9514* 0.2065
74 A M RE
< BAHSTE (0.0541) (0.6886)
- 1.6909*** 0.7406
74 A M RE
L 3A8EE (0.0005) (0.1489)
M2/GDP -8.6772%** -10.1894%***
(0.0000) (0.0000)
4 ~M2/GDP 26.4693*** 27.5070%*%
' (0.0000) (0.0000)
5.6012 9.8597
5=xM2/GDP (0.0085) (0.0000)
- -2.9741 -2.6319
397|040 = A
=87 &%&38/GDP (0.1601) (0.1886)
=87 | Hesd 24.2058*** 23.7180%**
/GDP (0.0000) (0.0000)
=87 Hesd 0.0234 1.4510
/GDP (0.9916) (0.4941)
=32 127 127 107 107
F-test 0.0181** 0.808 3.68e-05"** 0.104

pval in parentheses
**¥ p<0.01, ** p<0.05, ¥ p<o0.1
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(3)

AHEYE -0.2510 -0.0063
(0.9267) (0.9963)
< QANYUE 0.9148 -0.6506
(0.7383) (0.6456)
IR0 e les =+ 1.1725 1.0737
(0.6684) (0.4333)
753 /GDP -2.0906 -3.3736
(0.7190) (0.8206)
LxZ28-&5d/GDP 22.1619%** 25.4580
(0.0047) (0.1042)
L=xZ=85°d/GDP 0.1219 2.4245
- (0.9833) (0.8706)
SHl==/GDP -1.7305 -1.7572
(0.7510) (0.8171)
< ZHEZ/GDP -24.8287** -41.7335%**
(0.0157) (0.0086)
LxZUZ&Z/GDP -1.7546 0.9216
_ (0.7513) (0.9044)
HSA 91 o1 97 97
F-test 1.65e-05%** 0.0419** 0.0004%*** 0.434

pval in parentheses
**¥ p<0.01, ** p<0.05, * p<o0.1



O ?HH 2008'd F&H7] o] F 7IRte] Afole TAFCE FolohA] & 2y

1) (2) (3) 4)
1(t>2000) oimog)  (00808)  (omey (o
Lo

I(t=2009)*M2/GDP (;)441?? g g)
27| #8-54/GDP (02002)
I(t=2009)*= 87| & 7&’d/GDP _(4(1).,20941:2;
£95%4/GDP (0.2850)
[(t=2009)*&R7&"3/GDP (3.'3973;’)
SH==/GDP (_02,'25392725)
I(t=2009)*FH{&2/GDP (_(())..gé)gf)
HE] 127 107 o 2

pval in parentheses *** p<0.01, ** p<0.05, * p<o0.1
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Ao Aokl Hat: AAY = 2.00, BAYE
ZFAxE AAE = 2.00, BAE = 2.83
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4 (o] mEAA 2R Rate] oyt 2R EEWUAY 3A1F
WER & AANEN A ASge Rt 2 Wt e
(1) (2)
= 1.5619 1.4452
74 M| A R}
sA8TE (0.1602) (0.1542)
-5.4363 -8.9246%**
M2/GDP (0.1487) (0.0020)
=873 0.2872 -1.9813
‘3/GDP (0.9252)  (0.4517)
HSZ| 127 127 107 107
(3) (4)
= 1.1048 0.7040
74 M| A RF
sAlsEE (0.3112) (0.5262)
SH7&53/GD| -4.6440*%  -5.6494**
P (0.0667) (0.0159)
ZH=Z/GD -9.0988  -12.3307**
P (0.1536) (0.0389)
TS24 91 91 97 97

pval in parentheses
**¥ p<0.01, ** p<0.05, ¥ p<o0.1
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